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B) (WD LZLEEWIERTHBED L AEDEE(m) (F) ©F LHBENI-ERTIBEDLRZEDZE(m) %i?gﬁgzﬁfﬁi‘ﬂﬁ%%ﬁ_ ﬁ@ jﬁ‘fr P 7E #h HE iz RETEH
(C) BE)=L B AA100kN/m LU T DR DB EID 1 DB AIEKRN/n) (G) HIEEH3m LT DRI D HIED 51 DBAIERN/ 1) EAMLRGISE LSRR T ERSBHATRA L
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(A) (B) (©) (D) (E) F) (G) (H) (A) (B) () (D) (E) F) (G) (H)
(1) 134.7 1.0 99.0 1.0 - - 134 2.7 134.7 1.0 96.8 1.0 - - 13.4 2.7
(2) 135.6 1.0 99.8 1.0 - - 13.2 2.6 135.6 1.0 96.9 1.0 - - 13.2 2.6
( 3) 154.0 1.0 99.8 1.0 17.5 3.5 15.1 3.0 154.0 1.0 98.0 1.0 17.5 3.5 15.1 3.0
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